> 4x% + 2xy 9] 147} obd 7122

® x(2x+y) @ 2 ® x
@y ® 2x+y

4x2 + 2xy = 2x (2x + )
Q=1 1, 2, x, 2x+y, 2x,2(2x+y), x(2x+y), 2x(2x + )




2.

4x% + Ox + 16 ©] &HAFA0] E o, o]

@® (2x+1)? @ (2x+2)?
@) (2x+ 2y ® (2x5)?

(2x+4)% = 4x® + 16x + 16




3.

Y27} 2a - 7, Wol7F 842 — 30a + 7 ¢l AALZHE o] |2 Ao

Fatelet.

Ch "
| — Y

>
> ®ehl 12a-16

i

8a? - 30a+7= (2
wpetba] Ee|o] Aol

a —
=

7) (da-1)
(2a-17) +

+ (4da-1

)}x2 = 12416 o]},




+ (24 V2)x+2V2 E Q5ES)5HH?

O (x=2)(x+ V2) @ (x+2)(x— V2)
@ (x—1)(x+2V2) @(x+2)(x+ V2)
® (x+1)(x-2v2)

‘ (24 V2)x+2x V2= (x+2)(x + V2)




5. 6x2—x—A=(x+1)(Bx+C) € W}, A, B, C 9] g2 217 Fs}oizt,

\4
L

vV V V V¥
0d  ox
LR (1}
o>
[ I
(@) ~

0x
it
a
I

|
J

B ~
(x+1)(Bx+C) = Bx> + Cx+ Bx+C
=6x2-x-A
B=6,C+B=-1,C=-T7
A=T7




@ —6ax - 2bx = —6x(a + 2b)
@ ax®>+ay=a(x+y)
® a(x+y)-b(x+y)=(x+y)—ab
((4)—4x2 +16y% = —4(x + 2y) (x - 2y)
® x(2a-b) +2y(2a—b) —z(2a—b) = (2a - b)(x - 2y) — z

B

® -2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2z)




(x+2)? = (x—1)(x+2) & Aot 7rks] YepH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2
(@)3x+6 ® 3x-6

(FA) =(x+2){x+2-(x-1)}
— (x4+2)x3=3x+6




i L
ot
a1
QNJ
i
Ql\')
[
=
_|_
filo
ro
I
M
:?L_[‘
;gig‘
o

&
o
&
oo
N,
2
>
[
o,
¥
N

H7
@ x+1 © x-1 © a+1
® x-2 @ a-1
® 6,0, ® ©,0 ®)O,©, ®
ONENG) ® ©,6,0

a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




ohg

ol

A WEAINE o, b O] 3L Fotolet,

37x (40 + a) = 402 —a® = b

iy

v VvV v Vv
0x
i
Q
I

0
o
N
Il

—_
ot
Ne)
—_

37 X (40 + a) = 402 — a® = (40 — a)(40 + a)
40-a=37, a=3
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